AEKATH NEMNTH AOrIZTIKH OAYMIIIAAA 2019
ENINEAO 2

INSTRUCTIONS TO CANDIDATES
OAHTIIEZ NMPOZ TOYZ AIANQ2NIZOMENOYZ

For each question, choose and circle the correct answer A, B, C, or D.
The table for the ratios is given at the end of the paper
MNa ka0e ep@wTNON, ENIAEETE KAl KUKA®OTE T oWOTH anavrnon A, B, I A.

O NIvakag HE TouG apiOHODEIKTEG JiveTdl 0TO TEAOG TOU ypanToU

1. The information below refers to product B
Purchases
Price per Sales
Date Units unit Value Units
€ €
1 July Opening inventory 100 5,00 500
3 July Purchases 300 4,80 1.440
5 July Sales 220

Using the weighted average price method of inventory valuation, the
cost of the materials sold on 5 July was

A. €1.056
B. €1.067
C. €1.078
D. €1.100

1. O nio KATw Nivakag avagpepeTal aTo nNpoiov B

AyopéEg
Tiyn NMwAnoeig
Ava
Hpepounvia Movadsg Movada ASdia Movadeg
€ €
1 IouAiou ApxikO AnoBepa 100 5,00 500
3 IouAiou AyopEg 300 4,80 1.440
5 IouAiou MNwAROCEIC 220

XpnoigonoiwvTag TnV HECO OTAOHIKA MEOOJO aAnNoOTiPMNONG AnoBsparwv, TO
KOOTOG TWV NPOoiovVTwV nou NnwAROnkav Tnv 5 IouAiou sivai:

A. €1.056

B. €1.067

C.€1.078

D. €1.100
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2 A suspense account was opened when a trial balance failed to agree. The
following errors were later discovered.

1. An electricity bill of €1.020 had been recorded in the electricity expense
account as €1.220

2. A discount of €300 received by a supplier had been debited to discounts
allowed

3. Interest paid of €170 had been entered in the bank account only.
The original balance on the suspense account was:

A. Debit €330

B. Credit €330

C. Debit €630

D. Credit €630

2. ‘'OTav 10 100UYI0 deV OUMPWVOUOE n diapopd KaTaxwpndnke oTto Aoyapiacuod
EKKPEPOTATWY. META ano Tov EAEYXO NOU €yIve dlANIOTWONKAV TA Mo KATW AAon.

1. TigoAoylio and Tnv apxn HAekTpiopou nou ATav €1.020 xpewbnke GTO
Aoyaplaopo evépyelag oav €1.220

2. 'EknTwon €300 nou ARPONKe anod npopnbeuTn XpewOnKe 0TO Aoyapiacuo
EKNTWOEIG NoU d0BNKav.

3. Tokoc €170 nou nAnpwOnKe oTn Tpanela kaTaxwpndnke oTo Aoyapliacho Tng
Tpanelag povo.

To apxik0 unoAoino Tou AoyapiacHoU EKKPEHOTATWV NTAV:
A. €330 XpewaTIkO

B. €330 MoTwTIKO

C. €630 XpewaTIkO

D. €630 MoTwTIKO
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3. The following statements have been made
Which of the following statements are correct?

1. If a company pays dividend to shareholders the share capital of the
company is not affected.

2. The bank overdraft account is shown under current liabilities

3. The depreciation of machinery appears in the expenses section of the
profit and loss account of the manufacturing company

Which of the statements above are correct?

A 1and 2 only
B 2 and 3 only
C 1 and 3 only
D 1,2, and 3

3. O1 nio Katw dNAWOEIG EXOUV YiVEl

1. 'OTav pia €Talpgia NANPWVEl HEPIOHUA TO HETOXIKO KEPAAQIO TNG dev ennpeadeTal.

2. O Aoyapiaouog unepavaiAnyng napouacialetal KATw ano Tnv katnyopia
BpaxunpOBECUWV UNOXPEWTEWV.

3. AndoBeon pnxavnuatwyv eugavidetal ota €€0da Tou Aoyapiacuou
KePOOINUIWV TNG METANOINTIKAG ETAIPEIAC

Moieg anod TiG N0 Navw d3NAWOEIG Eival CWOTEG;

A. 1kal 2 povo
B. 2 kail 3 poévo
r.  1«kal 3 poévo
A 1,2 kai 3

4. Which of the following are true?

1. With FIFO, the inventory valuation will be close to replacement cost.

2. With LIFO, inventories are issued at a price which is close to the current
market value.

3. A disadvantage of the weighted average method of inventory valuation is that
the resulting issue price is rarely an actual price that has been paid.

A. 1 and 2 only
B. 1 and 3 only
C. 2 and 3 only
D.1,2and 3
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4.

Moila ano Ta Karw givail opoa.

1. Me Tnv peBodo anoTiunong FIFO, n anoTignon Twv anobeudTtwy €ival KovTa
OTO KOOTOG avTIKaTaoTaong.

2. Mg TnVv p€Bodo anoTipnong LIFO, Ta anoBpata ekdidovTal o€ TIUR nou gival
KovTa oTn ayopaia a&ia.

3. 'Eva YEIOVEKTNKA TNG HECO OTABUIKNAG HEBODOU anoTiunong anoBeudTwy €ival
OTI N TINA €kd0OONG Oonavia €ival N NPaypaTikn TIMA nou €xel NANPwOEi.

. 1 ka1 2 povo
. 1 kai 3 yovo
. 2 Kal 3 yovo
. 1,2 ka3

O n m >

The following statements have been made in relation to financial ratios of a
company.

Statement 1: Ratios based on historical data can predict the future
performance of the company.

Statement 2: The interpretation of a company’s financial statements using
ratios is only useful for potential investors.

Which of the above statements are correct?
A. Both statements are true

B. Both statements are false

C. Statement 1 is true and statement 2 is false

D. Statement 1 is false and statement 2 is true.

O1 nio kata dNAWOEIG aPoPOUV TOUC APIOUODEIKTEG ETAIPEIEC NEPIOPICUEVNG
gubuvng.

AnAwon 1. Kanolog pnopei va npoBAeyel TNV HEAAOVTIKN OIKOVOUIKN €nidoon
MIOG  €Taipeiag XpnoIMonolwvTag XPnHATooIKOVOUIKOUG OEiKTEG UE BAon
IOTOPIKA OTOoIXEIQ

ARnAwon 2.H epunveia TwV 0IKOVOUIKWYV KATAOTACEWV HIAG ETAIPEIAG
XPNOIMONOIWVTAC XPNHATOOIKOVOUIKOUC JEIKTEG €ival XpNnaoiun HOvo yia
MEAAOVTIKOUG €MEVOUTEG.

Moleg¢ ano TiG Nio Navw dNAWOEIG gival CWOTEG?
A. Eival opBgg kal ol duo dnAwOEIg

B. Eival AavBaopéeveg kal ol duo dNAWOEIG

. HOoNnAwon 1 €ival opBbn kai dnAwaon 2 AavBaopevn
A. HdnAwon 1 €ival AavBaopevn kal dnAwaon 2 opbn.
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6. The statements below refer to working capital.

1. When a profitable company receives payment from its receivables the
working capital remains the same but when it sells goods for cash the
working capital increases.

2. When a company purchases goods for resale on credit the working capital
remains the same but when it makes payments to the payables working
capital falls.

Which of the above statements are correct?
A. Both statements are true

B. Both statements are false

C. Statement 1 is true and statement 2 is false
D. Statement 1 is false and statement 2 is true.

6. O1 nio KaTw dNAWOEIC avapEPOVTAl OTO KEPAAAIO Kivnong.

1. '0OTav pia kepdoPOPOC €TAIpEIa EICNPATTEI ANO TOUC XPEWOTEC TNG TO KEPAAAIO
Kivnong dev PeTaBAAAeTal aAAa O6Tav NwAEi eunopelpaTa Toiq
METPNTOIC TO KEPAAaIo Kivnong au&averal

2.'0Tav n €Taipeia ayopadel EYnopeUATA YE NIOTWON TO KEPAAAIO Kivnong
napapevel To id10 aAAG 6Tav NANPWVEl TOUG MIOCTWTEG TNG TO KEPAAAIO Kivnong
MEIWVETAI

Moleg ano TiG Nio Navw dNA®OEIG Eival CWOTEG?

A. Eival opBeg kal o1 duo dNAWOEIG

B Eival AavBaopeveg kal o1 duo dNAWOEIG

[ HOoAAwon 1 eival opBn kai dnAwon 2 Aaveaouévn
A HonAwon 1 eival AavBaopevn kai dnAwaon 2 opon.

7. Alpha Ltd extracted the trial balance for the year ended 31 December 2018. The
total of the debits exceeded the credits by €500.

Which of the following could explain the imbalance?

A. Cheques amounting to €500 have not yet being presented to the bank

B. Computer maintenance cost of €500 were entered into computer equipment
account

C. Purchases returns of €250 have been entered into the sales returns account

D. Carriage inwards of €500 were entered into carriage outwards account

5|Page



7. H AA@a Aigited eToipace 1o IoolUyIo yia To €ToG nou €An&e Tnv 31 AekeuBpiou
2018. To 0UVOAO TWV XPEWCTIKWV UMOAOINWV OMWC ATAV HeyaAuTepo and To
OUVOAO TWV NMIOTWTIKWV unoAoinwv katd €500.

Moio ano Ta nio Karw &nyei Tn diapopa?
A. EmiTayéc a&iag €500 dev £xouv akOUn napouaciacTei oTnyv Tpanela.

B. 'E€0da cuvThpnonc unoAoylioTwv €500 kataxwpndnkav oTto Aoyapliacud Twv
NAEKTPOVIK®V UNOAOYIOTWOV.

. EnioTpo@£C ayopwv €250 kataxwpndnkav oTto Aoyapiacho €nOTPOPEC
NWARCEWV
A. MeTa@opec ayopwv €500 kaTtaxwpnbnkav oTo Aoyapiacuo HETAPOPIKA
NWARCEWV.

8. A wholesaler had an opening inventory of 650 units of product A valued at €8
each on 1 March.
The following purchases and sales were recorded during March.
4 March purchased 180 units at a cost of €8,5 per unit
18 March purchased 90 units at a cost of €9,0 per unit
24 March Sold 752 units at a price of €11 per unit
Using the LIFO valuation method, what was the gross profit of the

wholesaler in the month of March?

A €2.205
B €2.076
C€2.154
D €6.196
8. 'Evag xovtpeunopog €ixe apxikd anoBepa Tnv 1 MapTtiou 650 povadeg ano To
npoiov A pe kOOTOG €8 ava povada.
O1 nio kKATw ayopeg kKal NWANCEIG £ylvav KATa Tnv d1apKeia Tou Pnvog MapTiou.
4 MapTiou ayopaoce 180 povadeg npog €8,5 Tnv povada
18 MapTiou ayopaoce 90 povadeg npog €9,0 Tnv Povada
24 MapTiou nwAnoe 752 povadeg yia €11 tnv povada
Xpnoipgonoimvrag Tnv HEBodo anoTtignong anosparwv LIFO, nolo eivai
TO HEIKTO KEPDOG TOU XOVTPEUNOPOU TOV HAva MapTio;
A €2.205
B €2.076
r€2.154
A €6.196
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9. The following transactions relate to DTA's Ltd electricity expense ledger account
for the year ended 31 December 2018:

€
Accruals brought forward 1.350
Cash paid 3.600
Prepayments carried forward 1.050

What amount should be charged to the statement of profit or loss in
the year ended 31 December 2018 for electricity?

A. €2.400
B. €1.200
C. €3.300
D. €3.600
9. O1 ak6AouBec ouvaAlayeg oxeTiCovTal e To Aoyapliaopud NAEKTPIGHOU TNG

eTaipeiag DTA ATA yia To €1oG nou €éAn&e Tnv 31 AekeuBpiou 2018:

€
OpeIAéc and PETAPOPA NPOoNYOUHEVOU ETOUG 1.350
MNANPWHEG O€ PETPNTA 3.600
MponANPWHEC O HETAPOPA OTO EMOPEVO ETOC 1.050

Moi1o Nooo Ba XpewOei oTO AoyapiacHO KEPSO{NHI®V Yia TO £TOG NOU
€An&e o1ic 31 AskepBpiou 2018 600V APOPa TOV NAEKTPICHO;

A. €2.400

B. €1.200

. €3.300

A. €3.600

10. Which of the following statements are true?

1. Share premium is an item found in the statement of financial position of a
Limited company

2. The Capital expenditure incurred by a company is shown in the cash flow
statement.

3. When a company sells goods with profit on credit, the current ratio does not

change.

A. 1and 2

B 2and 3

C. 1and 3

D All Statements are true
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10 Moieg ano TIG N0 KAT®W SNAWOEIG €ival CWOTEG?
1. O Aoyapiaopog anoBepaTikoU ano Tnv €kdoon METOXWV UMNEP TO APTIO
oupnepIAaPBAvVETal OTOV IC0OAOYIOWO ETAIPEIAC NEPIOPIOUEVNG EUBUVNG
2. O1 Ke@AAAIOUXIKEC dANAVeEG Piag eTaipeiac napouoialovral oTnVv KATaoTaon
TAMEIGKWY POWV.
3.'0Tav Jia €Talpeia NwAei Je KEPOOG NPoidvVTa WYE NiOTwon 0 O€iKTNG
KUKAOQOPIAKNG peuoTOTNTAG dev peTABAAAETaL.

A. 1 kar 2
B 2 kai 3
r. 1 kar 3
A 'OAeC 01 ONAWOEIC €ival 0pOEC

11. Which of the following statements are TRUE for limited liability
companies?

1. A company continues to exist regardless of the identity of its owners
2. The shareholder’s exposure to debts and liabilities is limited

3. The financial statements of limited companies must comply with the
International Financial Reporting Standards

A. 1 and 2 only
B. 1 and 3 only
C. 2 and 3 only

D. All statements are true

11 Moieg anod TiG Nio kKATw dnAwoeig eivait AAHOEIZ yia TIG ETAIPEIEG
NEPIOPICHEVNG EUOUVNG;

(1) H eTaipeia ouvexilel va unapxel aveEapTnTa ano To nolol €ival ol IBIOKTNTEG

(2) H €kBeon TwV PETOXWV TNG £TAlpEiag oTov OAVEIONO KAl UNOXPEWOEIG €ival
NEPIOPICHEVN

(3) OI 0IKOVOMIKEG KATAOTACEIG ETAIPEIWV NPENEI va eTolgalovTal Je Baon Ta
01e0vn AoyloTikd npoTuna.

A. 1 ka1 2 pévo

B. 1 kal 3 povo

. 2 kai 3 yovo

A. 'OAeC 01 ONAWOEIC €ival opBEC
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12. The following information has been extracted from the statement of financial
position of a listed company.

€
000’s
Non-current Liabilities 100
Issued share capital 150
Working Capital (debit) 175
Reserves (credit) 85

The company’s Non-Current Assets are:

A. €190.000

B. €75.000

C. €160.000

D. Cannot be determined

12. O nolo kKATW NANPOPOPIEG £XOUV ANOONACTEI and TIG OIKOVOMIKEG KATAOTACEIG
Miag dnuooiag eTaipeiac.

€ 000’s
Mn TPEXOUCEG UNOXPEWTEIG 100
EkOopEVO PETOXIKO KEPAAQIO 150
KegpdAaio Kivnong -XpewaoTIKO 175
AnoBeuaTikO-NIOTWTIKO 85

To Mn KukAo@opoUv evEPYNTIKO TNG ETAIPEiAg gival :

A. €190.000

B €75.000

C. €160.000

D Agv pnopei va npoadloploTei

13. The finance department of the company prepared the company’s statement of
profit or loss for the year ended 31 December 2018. It was found that €10.000
paid for the purchase of a motor van had been debited to the motor expenses
account. The company’s policy is to depreciate motor vans at 20% per year on
the straight line basis, with a FULL year’s charge in the year of acquisition.

What would be the impact on the company’s profit after the correction
of the error?

A. Decrease by €2.000
B. Decrease by €10.000
C. Increase by €10.000
D Increase by €8.000
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13. To 0IKOVOMIKO TUAKMA TNG €TAIPEIag €Toigace To Aoyapiacuod kepdolnuiwv yia To
£TOG Nou €An&e Tnv 31 AekepBpiou 2018 kar avakaAuywe 6TI nocd €10.000 nou
NANPWONKE yia TNV ayopd evOog popTnyou Xpewdnke oTa £€€0d0a oxnUaTwv. H
NOAITIKA TNG €TAIpEiac €ival va anooBevel Ta popTnya He NocgooTd 20% To £TOG HE
Baon Tnv otabepry peEBodO andoBeong kal va unoAoyilel andoBeon yia
OAOKAHPO T0 £T0G, OTO £TOG Ayopdcq.

Moia Oa €ival n enidpaon oTo KEPDOG TNG ETAIPEIAG HETA TNV 310pOwON
TOU AdOoug;

A. Meiwon kaTta €2.000
B Meiwon kata €10.000
r. AUEnon kaTta €10.000
A AU&non kata €8.000

14. Liton plc purchased a machine for €155.000 on 1 September 2016. The
estimated useful life is 10 years with a residual value of €5.000. Liton plc. uses
the straight-line method for depreciation and charges depreciation on a monthly
basis.

The Net Book Value in the statement of financial position for the
machine as at 31 December 2018 will be:

A. €120.000
B. €110.000
C. €119.000
D. €140.000

14. H Aitov plc. ayopace €va pnxavnua yia €155.000 tnv 1 ZenteuPpiou 2016. H
W@EAINN {wn TOU PNxavnuaTog avapeveral va sival 10 xpovia pe €5.000
unoAeippaTikn a&ia. H Aitov plc. xpnoigonoiei Tnv otaBepn peBodo anooBeong
Kal XPEWVEI TNV anooBeon o< unviaia Baon.

H Ka@apn AoyioTikn A§ia yia 1o €106 nou €éAn&e 31 Askepuppiou 2018 yia
TO pNXAavnua nrav:

A. €120.000
B €110.000
r. €119.000
A €140.000
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15. The inventory value for the financial statements of BETA LTD for the year ended
31 December 2018 was based on an inventory count on 4 January 2019, which
gave a total inventory value of €536.200.

Between 1 January 2019 and 4 January 2019, the following transactions took

place:

€
Purchases of goods 8.600
Sales of goods (profit margin 25%) 12.000
Goods returned by BETA to supplier 700

What adjusted figure should be included in the financial statements for
inventories at 31 December 2018

A €537.300
B €541.300
C €535.900
D €553.100

15. H a&ia Twv anoBeudTwyv TnG eTaipeiac BETA ATA nou napoucialeral oTIC
OIKOVOMIKEG KATAOTACEIC Yia To €ToG nou €An&e 31 AekepBpiou 2018 nTav
Baciopévn oTnNV KATaPeTpnaon nou eyive oTig 4 Iavouapiou 2019 pe agia
€536.200.

MeTa&u Tig 1 Iavouapiou 2019 kal TiG 4 Iavouapiou Tou 2019 gyivav ol Noio KATW

OUVaAAQyeg.

€
AYOpPEC EUNOPEUNATWV 8.600
NwANCEIC EPNOPEUPATWV (HE KEPDOG £Ni NWANCEWV 25%) 12.000
EpnopeupaTa nou enioTpdgnkav ano Tn BETA oTov npounBeuTn 700

Molo €ival To avanpocapHOOHEVO NOCO Nou 0a sd@avieTal oTIq
OIKOVOHIKEG KaTaoTdoelg TnG BETA ATA cav ano®épara tnv 31
AskepBpiou 2018.

A €537.300

B €541.300

M €535.900

A €553.100

16. Expenses prepaid are shown under

Current liability
Non current assets/Fixed assets

Non-current liabilities/Long term liabilities

O 0O ®>

Current Assets.
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16. Ta nponAnpwTéa £€§03a napouocialovral KATw ano ThV Karnyopia.

TPEXOUOEC UNOXPEWTEIC

Mn KUKAOQpOPOUV eVEPYNTIKO/MAYIO EVEPYNTIKO
MakponpOBECUEG UNOXPEWTEIG/ N TPEXOUOEC UNMOXPEWOTEIG
KukAogpopoUv evepynTIKO.

> 1w >

17. Which of the following events results in a decrease in working capital?

A The transfer of raw materials into production
B The settlement of a supplier’s account.

C. Repayment of long-term loan.

D The sale of machinery in cash.

17. Moo u'n(') Ta Mo KATW YEyovoTa Oa HEIMOOCEI TO KEPAAAIO Kivhong TnNG
gTaipeiag;
A. MeTa@opd NPpWTWV UAWV OTNV Napaywyn.
B EEOPANGN TOU Aoyapiaopou evog NpopnBeuTn.
r. AnonAnpwpn pakpoxpoviou daveiou.
A MwANon NNXavnuAaTwy o€ JeETpNTa

18. LEKO plc has the following information in its financial statements relating to
motor vehicles as at 31 December 2018.

2018 2017

€ €
Cost 68.000 58.000
Accumulated depreciation 48.000 41.800
Net book value 20.000 16.200

During the year ending 31 December 2018 the following transaction took place
in relation to motor Vehicles:

Additions €18.400
Proceeds from the disposal €4.880
Depreciation charge for the year €6.640

What is LEKO’s plc profit or loss on disposal from the disposal of motor
vehicles in the year ended 31 December 2018?

A. Profit €3.080
B. Loss €3.080
C. Profit €3.520
D. Loss €3.520
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18 O nio kATw NANPOPOPpPIEC anoondoTnkav and TIG OIKOVOMIKEG KATAOTACEIC TNG
LEKO plc. yia To €1o¢ nou €An&e tnv 31 AeskepBpiou 2018 kal avagepovTal oTd
oxnuaTa Tng €raipeiac.

2018 2017

€ €
KbdoTog 68.000 58.000
SUCOWPEUNEVN anooBeon 48.000 41.800
Ka®apn Afia 20.000 16.200

OI Mo KATw OuVvaAAayEG €yivav KaTta Tnv OldpKeia To £€Toucg 2018 avagopikd pe
Ta PNXAvnuaTa Kal EyKaTaoTaoelc:

Mpoobnkec €18.400
Eionpd&eic and tnv d1abeon pnxavnuatwy €4.880
AndoBeon €Touc €6.640

Moio eival To KEPSoG N ZnHia anod Tnv 31G0g0n TWV OXNHATWV YId TO £TOG
nou &An&e 31 AskepBpiou 2018

A. Kegpdog €3.080
B. Znuia €3.080
C. Kepdog €3.520
D. Znuia €3.520

19 The following information has been extracted from the financial statements
of a limited company for the year ending 31 December 2018:

€
Current assets 50.000
Current Liabilities 25.000
Long term liabilities/Noncurrent liabilities 85.000
Total Assets 250.000

What is the company’s shareholder’s equity based on the above
information?

A. € 200.000
B. €275.000
C. €150.000
D. € 140.000

19. O1 nio Katw NAnpo@opieg Exouv €€axOei anod TIG OIKOVOUIKEG KATACOTACEIG MIAG
ETAIPEIAC NEPIOPIOPEVNC €UBUVNG YIa TO £€TOC nNou €Ange 31 AekepBpiou 2018

€
TpeEXOUUEVO EVEPYNTIKO 50.000
TPEXOUOEG UNOXPEWUTEIG 25.000
Mn-TPEXOUOEG UNOXPEWUTEIG 85.000
Total Assets 250.000
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Me Baon TIG N0 NAvw NAnpo@opieg noia gival Ta idia kepdaAaia Tng
€TAIpEIaq ;

A. € 200.000

B. € 275.000
r. € 150.000
A € 140.000
20. The trial balance of Astir Plc a manufacturing company for the year ending 31
December 2018 includes carriage outwards.
In the manufacturing account, carriage outwards will be included in
A. Indirect production cost
B. Prime cost
C. Distribution cost
D. Finance cost
20. To 100lUyIO TNG YETANOINTIKNAG €Talpeiag Astir Plc. yia To €To¢ nou €éAn&e oTic 31
AekepBpiou 2018 nepiAapBavel To KOOTOG HETAPOPAG NPOIOVTWY OTOUG NEAATEG
ZTOV AOYyapiacHo NapaymwynG TO KOOTOG HETAPOPAG NPOIOVTWV OTOUG
neAareg 6a cupnepIANQYOEi oTO
A. 'Eppeco kO6OTOG napaywyng
B. ApXIKO KOOTOG
. KboTog Alavoung
A. KéoTog XpnuaTtodoTnaong
21. Below is an extract from the statement of cash flows of Marina Limited prepared
by a trainee accountant.
€'000
Profit before tax 20.500
Depreciation charges 5.160
Loss from the sale of non-current assets (1.360)
Increase in inventories. (3.300)
Decrease in Trade payables 1.500
Cash flows from operations 22.500

The statements below refer to the above extract:

1. The depreciation charges should be deducted not added
2. The loss from the sale of non-current assets should be added not deducted
3. Decrease in trade payables should have been deducted, not added
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Which of the statements above are true?

A. 1 and 2 only
B. 1 and 3 only
C. 2 and 3 only
D. All the statements are correct

21. To nio KATw €ival €va andéonacua and TNV KAaTaoTaon TAPEIaKnG PoNnG TNG £Talpeiag
Mapiva AIITed nou €ToipdoTnKe and €va eknaldEUOPEVO AOYIOTH.

€000
Kepdoc npiv TNV (popoAoyia 20.500
AnooBeon €Touc 5.160
Znuia and TNV nwAnon nayinv (1.360)
AUEnon Twv anoBepaTwy (3.300)
Meiwon TwvV NANPWTEWV 1.500
MeTpnTa ano epyaacisg 22.500

O1 nio kKaTw dNAWOEIG avaPEPOovTal OTO NIO NAVW Anocnacua.

1. H anooBeon £€Touc Ba £npene va apaipebei kal OXI va NpooTeDEi
2. H Cnuia andé tTnv nwAnon nayiwv €npene va npooTeOei kal 0xl va apaipedei
3. H peiwon Twv nANpwTEWV €npene va agaipebei kal 0xl va npooTebEi.

Moleg ano TiG nio Navw SNAWOEIG €ival CWOTEG?

A. 1 ka1 2 yoévo
B 1 kai 3 povo
r. 2 Kai 3 povo
A 'OAEG ol nio navw dNAWOEIG €ival opBEG.

22. On the 31 December 2018 ABC Ltd a manufacturing company, had three items
in inventory. The following information relates to these items:

Direct cost of Production Expected selling Expected
Materials and Overheads and distribution selling
Labour costs price
€ € € €
Item 1 12.470 2.100 480 15.800
Item 2 19.360 2.730 100 22.040
Item 3 11.450 850 190 12.560
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At what amount should these items should be stated in the company's
statement of financial position at 31 December 2018?

A €43.280
B €49.730
C €48.960
D €48.910

22. Tnv 31 AekeuBpiou 2018 n eTaipeia ABIC ATA peTanoinTikn €Taipeia, ixe Tpia
npoiovTa oTa TeAIka anoBeparta. O1 nio KaTw NANPOPOPIEC avapEpovTal oTa Tpia
auTta npoiodvra.

AHECO KOOTOG Fevika Avapevopeva Avapevopévn
YAIK®OV Kal €€o0da €£ada nwAnocewv TIMA
EPYATIKWV Mapaywyng Kal 31Iavoung nwAnong
€ € € €
Mpoiov 1 12.470 2.100 480 15.800
Mpoiov 2 19.360 2.730 100 22.040
Mpoiov 3 11.450 850 190 12.560

Z& noia a&ia Ta npoiovra autad 6a napoucialovradl 0TV KATaoTaon
XPNHATOOIKOVOHIKAG 0€0NnG TNG eTaipeiag Tnv 31 AskéuBpiou 2018 ?

A. €43.280
B. €49.730

. €48.960

A. €48.910
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The information below is relating to questions 23 to 25.

The following information is an extract from the financial statements of Harris Ltd for
the years ending 31 December 2018 and 2017

2018 2017
€ €

Gross profit 325.000 295.000
Depreciation -50.000 -45.000
Other expenses -105.000 -85.000
Interest -25.000 -22.000
Tax -29.000 -28.600
Net profit 116.000 114.400
Non-Current assets 944.800 712.800
Inventory 55.500 54.500
Receivables 55.400 51.300
Cash in bank 4.500 15.000

1.060.200 833.600
Share capital 500.000 500.000
Share premium 40.000 35.000
Revenue reserves 280.400 164.400
Loan term loans 202.800 96.200
Current liabilities 37.000 38.000

1.060.200| 833.600

23. The following statements have been made in respect of the performance of the
company in 2018 compared to 2017.

Statement One: The Company’s return on capital employed has been improved
compared to 2018 but the company’s gearing has worsened.

Statement Two: The Company’s return on capital employed has been worsened
but the company’s gearing has been improved.

Which of the following is correct in relation to the above statements?
A. Both statements are correct

B. Both statements are wrong

C. Statement ONE is correct but statement TWO is wrong

D. Statement ONE is wrong but statement TWO is correct
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24. The company’s Quick ratio for 2018 to the nearest two decimals is:

A. 3, 39
B. 1, 62
C. 1,50
D. 3, 67

25. Assuming that the company did not sell any non-current assets during 2018.

What is the amount that will be included under investing activities as an
outflow in the company’s statement of cash flow for the year 2018?

A. €182.000
B. €232.000
C. €282.000

D. None of the above

O1 nio KATw NANPOPOpPieg OXETICOVTAI HE TIG EPWTNOEIG 23 HEXPI 25

H nio katw kataoraong €ival andonacpua and TIG OIKOVOUIKEG KATAOTACEIG TNG
eTaipeiag Harris Ltd yia Ta €tn 2018 ka1 2017.

2018 2017
€ €

MeIkTO KEPDOG 325.000 295.000
Anoofeoslq -50.000 -45.000
AAAa €€o0da -105.000 -85.000
Tokol -25.000 -22.000
dopoAoyia -29.000 -28.600
KaBapo kepdOG 116.000 114.400
Mayia oToixeia evepynTikoU 944.800 712.800
TeAlka anoBepaTa 55.500 54.500
EionpakTéa 55.400 51.300
MeTpnTa otn Tpanela 4.500 15.000

1.060.200 833.600
MeToXIKO KEPAAaIO 500.000 500.000
AnoBepaTiko ano Tnv €kdoon PETOXWV UMNEP TO APTIO 40.000 35.000
AnoBeuaTikd NPocodwVv 280.400 164.400
MakponpoBeopog dAaveiopog 202.800 96.200
TPEXOUOEG UNOXPEWUTEIG 37.000 38.000

1.060.200 833.600
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23. O1 nio KaTw ONAWOEIC £yIvav ava@opIika UE TNV OIKOVOMIKN €nidoon TNG €TAIPEIAg
To 2018 o€ ouykpion he To 2017.

ARAwon 1: O d&ikTng anddoong eni TwV anacXoAOUHEVWV KEPAAdiWV BEATIWONKE

To 2018 o€ ouykpion ME To 2017 aAAd o O€ikTNG XPEOUC/MOXAEUONG TNG ETAIPEIAC
EXEl XEIPOTEPEUOEI.

AnAwon 2: O deikTng anoddoong eni TwWV andoXoAoUHEVWV KEQAAAIWV

XElpoTEPeUOe To 2018 og oUykpion Ye To 2017 aAAd o deiKTNG XpPEOUC/HOXAEUONG
TNC €TAIpEiac €Xel BEATIWOEI.

Moio anod Ta nio KAT® €ival cOOTO avaopikd HE TIG N0 Nave dNAWOoEIG ?

A. Eival opBgc kai o1 duo dNAWOEIG

B Eival AavBaopeveg kal o1 duo dNAWOEIG

' HonAwon 1 €ival opOn kai n dnAwon 2 AavBaopevn
A HdnAwon 1 €ival AavBaopevn kal n dnAwaon 2 opon.

24. O dsikTnG NpayHaTiknG/e181IKNG pEUCTOTNTAG O€ duo dekadika givai ?

A. 3, 39
B. 1, 62
C. 1, 50
D. 3, 67

25. YnoBeTovTag OTI €Talpeia dev €xel NwAnoel onoladnnoTe ndyia katd To €Tog 2018.
Moio €ival To Nooo nou 0a Ppaiveral oTa HETPNTA o€ ENeVOUOEIG Nou Oa
OUHNEPIANPOEI 0TV KATACOTACON TAMEIAK®V POMV Yid TO £€T0G 2018?

A. €182.000
B. €232.000
. €282.000

A. Kavéva ano Ta nio navw
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ACCOUNTING RATIO

. Profit before Interest and taxes
Return on Capial Employed = fit befor X 100
Capital Employed

, Fixed Return Capital
Gearing = x 100
9 Total Capital Employed

. Current Asset
Current Ratio = ———
Current Liabilities

Current Asset—Invetory

Acid Test /Quick Ratio =

Current Liabilities

Gross Profit x 100

Gross Profit Margin = Salos

AOII>TIKOI APIOMOAEIKTES

Képén mpLv amd t6kovg & @Hpovg X100

Ap1Bpodeiktng Amodotikotntag Araoc yolovusvwv Kepalaiwv = Amooxohotneva Kepiton

Kvkldopopiakd Evepyntixod

ApiBuodeitktng Kvkdogopiakng Pevototntag = B poorUTpOBEOIES YTOXPEMOELS

AptBuodsixtng lpayuatikic Pevototntag
_ KvkAogopiakd Evepyntikd — Teliko Amofeua

BpoayumpdBecueg YTOXpeEWOELS

Eéva Kepdlaia 100

Agiktne Xpeovg/MoyAgvong =

ZUvoAo Amaocxoiovpévov Kepaiaiwv

, , ; __ Mewkto Kepdog
AgikTng Metktov Képdovg = Tomoes 100

20| Page



